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A HAZtez 2H Hojet 2L HE S CHdS LCh
ni =2 &
B. ™oz BH MOHE gL}
O3 2E AFR38}0] Stand-alone mode, Direct mode, Mixed modeZ ZE| K02
% RS232 open [COM2] / BaudRate=38400 (module:VERSION)1021V129 )
COMport  BaudRate  # ofmotor Axis 12 Right limit switch Axis 193 _
R ij [¥ Disable[check] / Enablefuncheck] Ref search mode ZEIH
|com2 -] fss400 ~||moT2 _| open 052 | Ais 13 Left limit switch RFS method 2B
Bank0[56] og—— |V Disable[check] / Enable[uncheck] I]_ vI
serial address  Address | Inifial JOG ramp divisor  pulse divisar
IT Change | param. iy |° LI I0 LI RFS |
—Velocity Current
Axis 140 Microstep 1 round[pps] rps rpm E :3:_0 Use Velocity Axis & . ;l Axis 7 "
max. curren
I?_ss micro LI | 51200 I 6 I 350 Calcu & ROR{(L:JS:E}} apply | standby current
[128 gezss | 0n255 | |
ﬂ J ﬂ STOP{cur)
adisa | ao70 =[ swoo <[ & 4] | j_ROR( : 0% L [25 o ]
. positioni d cr) | " ;
m‘j Pt o lﬂa”" write Bank2 Addr0
- ROL(cur) v Basic 0 ite0
Axis5 | 614400 =] 51200 | 12 ﬂ J j — ||| ¥ staliGuard: Macro LI
max. acceleration Gap time[ms] W coolste Write Bank2 Addrl
p
A » ,
__r J J I 2000 W Macrolist 0 writel
"“.’“_5 Ly ' 51200 = I TN * I 1 ﬂ_l j repeat s13rt|
minimum speea Veloc.| 307200 veloc, | 307200
- Position aAccel.| 614400  Accel, | 514400
A _ 2l Move to Fos. | 921600 os. | 921600
g + 1m0 =[ sm0 =] 22 4] | 5]} | \Besition Cos oo | TR o
- ™ ABS(absolute) (% REL(relative) ¥ REL ¥ REL
—Monltorlng J debug [T 1T 21" 31 4 Pos. repeatsta |
s & Axis 180 Axis 206 Axdis 209 ¥ use pause
Targetpos reached Actual current  Actual load value Encode counter first Display Veloc.l 307200 Veloc.l 307200
| 1 8 192 | 1126400 |ch_| stop Accel. [ 514400 Accel. [ 514400
Axis 0 Axis 3 ¥ use pause
Act.Pos. | Target position p,cma| smon Tar et AchJaI Pos/Speed b= I 921500 = I 321500
AR _|[ 1126400 [ 1126400 [ I stop CABS o | D MBS g
 REL * REL
—Ramp Calculation Bank2 Addra stallGuard2
microStepVelocity=307200 Ramp P (Axis 173) filter enable [V filter mode[check] | standard mode [uncheck]
= (Asis 174) ﬁnreshold| 5 4 =l ]
Bank2 Addrd 54 0 63
I 0 (Axis 181) Stop onl 0 0 ~ 268435454[pps] stallGuard2 Apply |
. coolStep
leration=614400 (Aods 168) currentmin. [ 1/4[chedk] [ 1/2[uncheck]
(Axis 169) current down IU - slow I (Axis 182) threshold speed
_ = (0 ~ 268435454) [ps] 0
. (Axis 171) current up 0 - tiny (Axis 183) slow run current IO—
= . ) ) {0 ~ 255)
ccel:0.41]s] titne {Auds 170) hysteresis value{0 ~ 15) I 0
Ramp:4.15[s] (Axis 172) hysteresis start(0 ~ 15) | 0 M

gL

www.erae-tech.com

H| O] X|




ERAETECH

L 12 12 S4 ZEo| o3 HOE Ch3lt 22 7|52 Lt
(@) RS4859] EES XWELICL HEE TAIBEATOIN HYKHE ZES 2 + U

L|C}. COM port= “COMO"0f|A] “COM31" X|&&t 2 Ql&Lch

M-
(b) RS4852| BaudrateE X|dg = QUEL|Ct Buadrate= 9600bps0|A{ 1000000bps7tX|
7r=6w| =3

OfAEOIAM SAZE A Parity=NoParity, Stopbits=OneStopBit 2iL|LC}.)
Ea M= "MOT1"0| A "MOT255"7tX| X|™EH 4= Q& L|Ch

(d) COM port/Buadrate/# of motorE X|™dst1 EAl IEE "ol HE ¢

(e) 841 ZEE ‘close"st= HE L CL

() S ZEZ SEH2Z “open’0| E|H ZEO| Rl HES & + AsLHCL

(a) (b) (c) (&)
COM port BaudRate  #ofmotor R5232 RS232
|COM2 _;] (18400 ~|[MOT2 ~] open | dose
- RS232 open [COM2] / BaudRate=38400 (module:VERSION)1021v129 (f) =}
= |
2. 0% 2 2H Bz WA Cigt Ade=z Chgut €2 7|58 Ut
() HEY REHO| B E YLt
b) HES 2 P HEEL . HEeh 20= 28 10 sS4 ZEE

Banki[565]
serial address  Address
If Change

3. O 32 "Velocity"0f| Ciet A2 CEaF Z2 ol )

() HEHA0M OO|EARE MEE = UGFLCH XiMet LHE2 HO|H AEE E=X
SHA| 2.

b) ZE 13|HZ pps THIZ EH LICE

) BE 3T rps2 B LT

d) 28 ™= rpmez #H oL L St rpmez =8 = AFLLh =88 =
o= HE (e)2 ZEI5IH "max. positioning speed” | X|AEZt =A™ ELICt

(€) rpmE 7 =

0
ma
M

o

A2 "max. positioning speed” HX|AHE £=HetL|Ct.
(f) EEQ| "max. positioning speed” B|X|AHE BHATILICL XEM "+"= ZEO| "max.
positioning speed’?| ZTL=S & = UYL TEM "X'= ZEL| "max. positioning
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ERAETECH

speed” 9]

(9) 2E2| "max. acceleration” 2|X|AH

&= o0 HX|AE0| HFgLct

MAYLCE XEM "+'= 2ZHO "max.

=
=
acceleration"9| S & £ Y1 XEM "X'= BEHO| "max. acceleration"?| 5

(h) 2E2| "minimum speed” Z|X|AEHE HZADILICH XEM "+"= BES| "minimum
.

speed”9|
INESIS LY

(i) HE ()& ZHE dXIot=

() HE ()= ZHS

k) HE ke =

() ZHE LEF AF=R B =
YL

(m) 2ES QEZ %oz Y

U8 & £ D XEM 'X'= DEO ‘minimum speed’2| 2 310 |
drF gt C

Motz HAEMAM 2| 22 HAl X &= Al

=2

(n) |3 HE"Auto Use"O| HIA L0 QU™ "max. positioning speed” 2| X|AE 7} HA
< 0 opct ROR HEO|L} ROL YO £ME/L|CL TR ZP RORI ROLE M
ot EL|C}

(0) "Velocity apply"HHE2 Velocity0] 2=l HX|AEH ZES HES TLICL

(p) TMCM-140, TMCM-11800{|A{ AR E|= “ramp divisor"@} “pulse divisor” #|X|AEZ

AL e

ramp divisor( P bulse divisor
||

Velocity

Axis 190 Microstep 1roundlpps] (Cps  (d)rem  (©) ¥ futo Use velocity 1))

4

4

|26 micro(a)e| [(D)s1200 | & | 30  Calw

[ {NROL(use)
[+ RORE;::} 2peTy

Axis4 | mrznngf)-] 51200 =| 6 4| X| |

max, positioning spes

+| | sTopauri

ROR{cur)(]

0

Axis 5 |
max, acceleration Gap time [ms]

hd |
s14400(g) =] 51200 <[ 12 4| X HM
+ 2T 2000 {1)

Axis 130
MIRIMUMm Speea

si200(h) =[ s1200 =["1  «|X] ﬂrematsu@]

4. 1%l 4= "Position"0f| CHE Ao 2 CtEut 242 7|52 &L |C

(@) 2Hol X & YL[Ch. T

pps[pulse per sec] YL|Ct. ZEAM "+"= HE9]

L
—
“Position"?| LS & £ Y0 XEM "X'= BEQ| "Position"9 55 St XA
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B0 grEgct

L-OoOHd
b) ZES| ?|X] YLE Xz 2FLLCH

(
(€ ZEO| /X SEE JHifIX2 SFLCt
(
(

d) ZEQ| ?/X] O|50M +'& 0|1 = gES LT
e) ZHO fX|/ge/2AN = HH/XE 285t 2H 0l FT HE YLICH
Position
ﬂ ﬂ ﬂ Move to
ﬁ+| 1126400(@) = | 51200 = | 22 | X]| »| | Position
( 5 (b) ABS(absolute) fGCDlEL{rEIaﬁ'u'E}I €)

a2 4

(@) "max. current”Q| ZE|CHZr |_| C}.
(b) “max. current”Q| E|AZFRIL|CE

(c) "max. current"Q| Y& AIAEHE EHBHL|LC
d

(

e

) "standby current”2|
) “standby current”2|

(f) “standby current”"Q| Zt AEHE =FTHL|C}

Current
Axis & ﬂ Axis T -
max. current standby current

Wan)mzﬂ(gj | 54(d)a~ass ()
G I PO

a3 5

6. 112 62 "ramp calculation"df CH3t Ao Z CtS1t &2 7| &L LCL

noon non noon

(@) "max. position speed”, "max. acceleration”,

0t0

minimum speed”, "position”
(e

otol, /Xl O|sE M Ol AlZtat A|ZHE DrO|AZAHO| HstE = &

=
=

- [IJ|[IJ

A
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ERAETECH

Ramp Calculation
microStep Velocity=307200  Ramp

leration=614400

ccel:0.41][s] time

Hamp:4.15[s]

a3 6

(a) “"filter enable"2 EEQ| &0 HEHS DIZLUSHA
C}.

(b) “threshold"s 2ZE9| &2 S5 &2¥ot= A YUCh

2=
rr
N
2t
)
mot
+
30
rr
X

(c) "Stop on stall"'2 ZEO| £=Z}H0| ‘0’0 £|US O "Stop on stall” ZHELCH ZE &£
L|Cf.

7t =@ BZHE FXAZ|= XA YL

(d) "filter enable”, "threshold”, “Stop on stall” 2|X|AH Zf=0| HojX|H Z2EO| H™HSt=

HE YLIC.

stallGuard2
(Axis 173) filtk@dable ¥ filter mode[chedd] / standard mode[uncheck]

(Axis 174) threshulddb)E J J ﬂ

B3
(Axis 181) Stop on SEIIH 0w 268435454[;:;:5] smlléu 2d2 Apply |

ay 7

8. 112 82 "coolStep’d| T3t o2 Ctemt 2 7|5E BLC
(@) “current minimum”2 max. current value2| A#H Y ¢
'l axis parameter 62| 1/42 A EL|CH
(b) “current down step’2 stallGuard2 =™ X|0f| CHst 24 H|E§S HYTL|Ct

(c) “current up step’& current 57} AHS MMSHL|CT

(e) "hysteresis start"E *PEF BA 42 8L
(f) “threshold speed” EC} 9™ coolStepO| =43} E L|CT
(9) “slow run current"= A7 £& 2Ot %2 ZH currentE MHstL|C}

) ?1o mEtojHEE 248 I Ar8El= HEYLUCH

= b

ol QIL|Ct. '0": axis parameter 62| 1/2
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9.

10. 12l 102 “"Monitoring / debug”0f Ci$t Ao 2 Ct21 242 7|58 ©L|CH

coolStep
(Axis 168) current min.(a_) 1f4[chedk] [ 1/2[unched:]

(Axis 169) current dow ﬁ —slow  w| (Axis 182) threshold speed Kﬂi
(o (0 ~ 263435454 [pps] 0
(Axis 171) current up (C)lIZI -tiny | (Axis 183) slow run current
(0 ~ 255 19)0
(Axis 170) hysteresis value(0 ~ 15}(@; 0
(Axis 172) hysteresis start(0 ~ 15) (§) 0 (h}oolstep Apply |

2l 95 "Reference search’0f| C{st Hdo =2 C24t &2 7|2 &L LCL
olL

( ol
(b) “Left limit switch” A& FFE MEH
(

LB S} =
c) "Reference search” 2t & MEHS= ZHYIA QIL|ICt HIHES [O|E A|EE

Me.

(d) "Reference search” &S MEiGH S0 AdASt= HEYLICH

Axis 12 Right limit switch Axis 193
(a)v Disable[check] /Enable[unchedk] Ref.search mode
Axis 13 Left limit switch RFS method

(b)¥ Disable[check] /Enablefuncheck] |1 () =

(d)RFs

a3y 9

(a) "Target position” HX|AH Zf2 HAO{A 2 FL|LC|

(b) "Actual position” HX|AH S HO{AM EO FL|Ct

(€) "Target speed” BX|AE| Zt2 9I0{Af HO| FL|Ct

(d) "Actual speed” HX|AH S AHM EO FL|C

) “Target position reached” ZX|AH ZfE AN 2O FL|CH

(f) "Actual current” B|X|AH S AOHAM EO FL|C|

(9) "Actual load value” HX|AE Zre AOA E FL|LCL

(h) "Encoder counter” | X|AH 42 AOA EO FL|C}

(e

ol
21
o
=

SENC);

(i) "Actual Position Clear” HHE2 "Actual position"d} “Encoder counter” 2|X|AHE 0

o= z2lof 30| FL|Ck

() “first Display start” HESZ A &tH 1Z
“Actual load value"E dgjmloz =Qlat 4= QLL|CH O|HdE (NS SEls
20| & 74X|e| MEfO|AM “Current/Load"s MEHSH Zd QIL|Ct THOF

www.erae-tech.com
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ERAETECH

0)2t Z0| &= ZtX|Q] MEHO|A “Switch status"s MEHSIH & 129t ZHO| Switch
status@} I/O portQ| TX| AEf MEE & = USLICE ()Q] "use pause"E& M| A sIH
a2l 110|Lf O3l 129] CiAZg 0] 3FHO| ™X| EL|Ct “first Display start” HE2
“first Display stop"1t E& @ L|LCt.

"Pos/Speed start” HEZ A2 sIH 2 1310F ZH0| "Actual speed”, "Actual position”,
“"target position reached”, “encoder counter” | X|AE ZfE2 C|AEL 0| Sl ey
o ofH LICH (m)2| “use pause’E M ASH F 139 C|AZFZ 0| 2HO| HX|

EIL|C}. "Pos/Speed start” H{E2 “Pos/Speed stop"1t EZ IL|Ct.

—Monitoring § debug @
Axis 3 Axis 180 Axis 206 Axis 209 use pause

Target pos reached .ﬁ.ch..lal current  Actual load value Encode counter first Display
I (e) e I (f I (g I(h Iéun vI Lt(])
Axis 0 Axis 2 Axis 3 use pause

Act.Pos, Targeacﬂpsmsmun p,chfé| polsmun Targ?tsspeed Acmgllsspeen: (nﬁnsﬁpﬁd
R @o [mo Je@° [de cart ()

Currentfload
Switch status

Actual current value==%8 Actual load value=416

32 1024

28 BO6

24 768

0 640

16 512

12 184
l

www.erae-tech.com o[ x| 7




ERAETECH

itch status / /O port status

Switch status{lome)=1 INO=0 OUTO=0
) Switch status(Right)=1 IN1=0 ouT1=0
Switch status(Left)=1 IN2=0 ouT2=0
IN3=0 OuUT3=0
* Holfe
Rigmm
Left ﬂ_.""-
I‘—\L [N port 0
Jr'_l\ [N port 1
—\ IN port 2
IN port 3
) OUT port 0
OUT port 1
OUT port 2
OUT port 3
g 12
Speed / Position / Encader counter / Target pos. reached | = |8 % |
Actual speed=0 Actual posiion=2867200
target pos. reached=1 encoder counter=2867200

| )I n

www.erae-tech.com 0| x| 8
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11. A& 14&= "Monitoring / debug”0f| CH3t Ao 2 LS4t 22 7|sS TL|C} Bank 20|

12.

£
25671 9] global purpose variableO| Q&L|C}t. O|AS O|&3}
AL

a) Bank2 Address OFH B X|AEO AET S 7|stL|C}.
b) "write0" HES 225l Bank2 Address O 2| X|AE0f 0] A& L|Ct.
¢) Bank2 Address 18 | X|AE{0| MAS ZpS 7| Qs C}.

d) "writel” H{ES Z2/5}0 Bank2 Address 1t K| AE{0f Zto| M EIL|C}.

n

(e) A2 E =g [ Bank2 Address 8 BX|AEY /2 AM™SIH DEH S29| =X}
=2| & =25t debugz AEET = USLIC

() I22E g U Bank2 Address 9% 2| X|AE0f gts 2ESHH 2H SO &%t
=2|& &5t debugz A& = USLICH

Bank2 Addr0  Bank2 Addrs
(é)j (Arited | (e)
Bank2 Addrl  Bank2 Addro

(cp  (dyite1 | NGO

agl 14

a2l 15 "Macro list g}m"gg Ct2t 22 7|18 YL ZHE FS5t= A2

~

=] =
A=7t Hysls Copet gLy HR2E L2+

A

mjn

sk

=

rir

S EPN

7

(d) ‘Line comment"2A] O3 2
Elol |_-”OI° OIE#'%- o

(f) “Instruction"O| A= HZHO|E

(@ “Type"0iM= E=ot EIRS

(h) "Motor / Bank"0jAM= B3 E AMEH

(i) “value"OME= gt= 242 2

() FHoo Cigt AHEEF X

(k) 2t RAHEE &Y gL

() FEo(OiA=)E =7t gLt

(m) FFojmaz)s 8 Lok

(n) B2 =2)2 AH 2L CH

(o) "Direct mode"0i| A T&3St= HO|E(TX)E AL 4122 C|AE2|0| gL .

www.erae-tech.com 0| X| 9




ERAETECH

(p) “Direct mode"0j| Al =413}

(q) “Direct mode"0j| Al =413}

(r) "Direct mode"Oj| A £=Al3}
=

(s) "Direct mode"& A

|>

%' Macro List (=230
Line number Lable name Instruction Type Bank Value Line comment
0 {f ERAETECH www.erae-tech. com
1 (a =
2 @) Jf example macro 8
3
4 LEOO1: SAP 1 1] 0
5
] SAP 4 o] 20000
7 b Line
8 SaP 5 0 80000 (b) =5
9
10 MVP ABS o] 12800
11
12 WAIT POSs 1] 1} Li
i3 (©) 25
14 WWALT TICKS 0 100
15
15 JA LBOO1 .
17 Line
18 sTOP (p=mmmegt
lg ==
20
21
22 nstruction
23 "%
24
25
28
27 Ipstruction
2 (m) ==
30
Instruction
AF
Line comment |// example macre|  (d) (n) =H
Lable name Instruction Type Motor [ Bank Value
| (e) |2$'f) STOP stop EMCL program execution ﬂ |D - <don't care > (9) J |dmob3r 0 J |D(i)
Direct mode
| (0) | (p) status | (a) Received value | () (s) =#
Instruction camment | (J)

a8 15

o
Ofgte A= Cfglt #2 7|ss ©LUCL

=
(@ 4 HOIHE &AL gtoz2 moista Ztefol IMES C|AEg 0 YLt
(b) S HOIHE CIAE80] & AAXE MESt= 2L|HE YLICE
() E|l2Z2|0lE HOIHE AHM3ts HE YLt

www.erae-tech.com
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“ Format Data Disp

{+ edit display(ok)
" edit display{no)

lay

‘ (c)m=237

o

]|

(13:03:22:096) *TX:
(13:03:22:102) RX:

(13:03:22:105) *T¥:
(13:03:22:118) RX:
(13:03:22:121) *T:
(13:03:22:134) RX:

(13:03:22:139) *TX:
(13:03:22:150) RX:

(13:03:22:155) *TX:
(13:03:22:166) RX:

(13:03:22:178) *Tu:
(13:03:22:198) RX:

(13:03:22:205) *T¥:
[13:03:22:214) RX:

(13:03:22:221) *TX:
(13:03:22:230) RX:

(13:03:22:238) *Tu:
(13:03:22:2498) RX:

(13:03:22:255) *T¥:
(13:03:22:261) RX:

05 0a 42 00 00 00 00 00 51 [commd=GGP 10]
050564 0z 00 00 00 05 7d time: TRUE result:
[Successfully executed
05 88 00 00 00 00 00 00 8d [commd=136 136]

][Global= 66 ] value=

OK)
5

0531 30 32 31 56 31 32 39 time:TRUE (module:VERSION)1021Y129

0505 04 00 00 04 b0 00 c2 [commd=5AF 5]
050564 0500 04b0 00 27 time: TRUE result:
[Successfully executed  ][Axis= 4] value=
050505000009 60 00 73 [commd=5AF 5]
0505640500 09 60 00 dec time: TRUE result:
[Successfully executed  ][Axis= 5] value=
050582 00 0000 c8 00 54 [commd=54F 5]
0505640500 00 c8 00 3b time: TRUE result:
[Successfully executed
0505 04 00 00 04 b0 00 c2 [commd=5AF 5]
050564 0500 04b0 00 27 time: TRUE result:
[Successfully executed  ][Axis= 4] value=
050505000009 60 00 78 [commd=5AF 5]
0505640500 09 &0 00 dc time: TRUE result:
[Successfully executed  ][Axis= 5] value=
050582 00 0000 c8 00 54 [commd=54F 5]
0505 640500 00 cd 00 3b time: TRUE result:
[Successfully executed
0505 05 00 00 00 00 80 90 [commd=54AF 5]
050564 050000 00 80 f3 time:TRUE result:
[Successfully executed  ][Axis= 6] value=
050507 000000 00 40 51 [commd=5AF 5]
050564 050000 00 40 b3 time: TRUE result:
[Successfully executed  J[Awis= 7] value=

(@)

][Axis=130] value=

][Axis=130] value=

OK)
307200

oK)
514400

oK)
51200

OK)
307200

oK)
514400

oK)
51200

OK)
128

OK)
64

14. 128 172

(a) "Basic

"stallGua

“coolStep Al
[s] 3 -

o

=2 M
23t

"macrofil

EH
=

A

www.erae-tech.com

=

o
HES

a3 16

Macro write"2 Ct21} 242 7|

MEHSIEH  Velocity@l Currentd|

rd"S

"

Meysto

A E—|H

stallGuard 2t
=]

i=3
= —

St coolStepdt 2+
MERSE “Macro  Write"
g gLk

S
2
AH

=
e.emc” It 0|

2l 159} Z0| "Macro List &0 A

St

o
= d

L|Ct.
o &

—

= PNE =
CIPNESZ
3

[l

il

XA

.

B

» Mn

uy 422
y < Tio

0x

0
— =

i
fn

Ot rot

H

Ju

r2

ujn

=

=1
=

o

hu

un o

0%
E
me

l2z2=2
222

=11, "Macrolist”

ny

ra ro
mn mn
[

1

St

2
0

Lt &

off

$0 1%
Y

=
—

Ho|x| 11




ERAETECH

Macra write
v Basic (a)
Iv stallGuard: Mado
v coolstep Write
Iv Macrolist

ag 17

15. 12 182 MVP YHS At8¢ BEQ| th2 RS0 et HO= C13at 22 7|

s2 ¢
L|C}.
(a) Velocity Zt2 MAgtLICE
(b) Acceleration Z}S AM&stL|C}
(c) Position gtS H&7dgL(Ct.
(d) MVPOJ|A| "ABS"Q} “REL"E MEHSHL|CE.
(e) 2

=2 od

a'OlA d7tx| 2 8et £, GO)
GO(@3), GO@4)E 0|9} Zo| At

=

S5 2ot MVP Y| AHELCL GOR)
o

() Hr=E MVP BHES Suot7| YoiA TR GONZ MU 4 UsLich
(g) T'OA MEISH GOO=
repeat end'= E= E

G M
Hoz HASt= HEYLICL "Pos. repeat start’et “Pos.

(a) veloc. 307200 Veloc, | 307200

(b).ﬁ.ccel. 614400 Accel, | 614400

F'DS 921600 F' 921600

AES " ABS
F'.EL {1} # REL _ " | Go@)
(f)l_ 1" 27 31 4 |Pos(@dpeat sta

Veloc, | 307200 Veloc, | 307200

Accel. | s14400 Accel. | 14400

921600 Pos 921800

. AESJ J
GO(3 GO(4
{* REL & {v REL )

a8 18

o
, LEFLR O|FotH REO| LIt FItetL(LY.

Se42 2Tl Ukt BEW H ££2 QAFLCL 121 2
= S

[ =
OF RHs FA UL ZH Kz0f 2AE YXAH US
g
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